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1) A baseball diamond has the shape of a square, and each side is 90 feet long. A
player is running from second to third base, and he is 60 feet from reaching third. He
is running at a speed oéZS feet per second. At what rate is the player's distance
from home plate decreasing? 75
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2) A kite is flying 100 m high, where the wind causes it to move horizontally at the
rate of 5 m per second. To maintain the kite at a height of 100 m , the person must
allow more string to be let out. At what rate is the string being let out when the
length of the string already out is 125 m? P
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3) Oil is dripping from your car and rormlng a circular pudd!e The radius of the

puddle is expanding at the rate of 2 inches per minute. What is th,e rate of change of.
the circle's area when the radius is exactly 8 inches? f-} 77'_(“
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